Secrfon 12.3
p. 572: 3,4, 6,9-13, 14

#3 Find the Radius of a spheRE whose gur face
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= Cln
2m(2)-%
=45
=20
= v
T.A= 10T +20T0 +H1 A, = T

= [3umu?] - ur

il

— 2
| = 4T ¢
S dil “$4Tr
36=v"*

\Q,:f

\/\emisph er€
"hak sphere”

T Asphere ~ 4T (6)"

- 4T-36 |
T\YYT /L = 72Tu

Abase = ’\T((o)ztgé;ﬁui

TA = 12T+ 36T :\|09Wu1t

46 Find the totul surface area oF & hatF cyunder
with a radius of & and a height ot 2.

2 =

|

A =T(g)
© = 25T

— 2
Ac\/t." ZT\"(E)

= \oTr 2

~ 20T [2 = \0TC



#9 what s\3¢ Lagel Uen Hh and width)
wil {ust Fib on a can 8cmin diameter

ond L4 em hlgln.

L.A. = 27 -h
= 2m(4)- 1+ LaBel I't It
= omMa¢ l
- —_— L
\m—( g (circumference)
Ho
TA'sPhere = 4T (3)2
= 36T /2 =87
LA cyr = 2m(3) -10
= T .10
= 60T
l"ACone = 0T -5
2
= |5 |
TA = \ET+60T+IST =\0|3Tru2
#1 KITE 15 a ke /\j/_\
K (0|(9>
a. Find the area of the KITE 2 4 24)
A:‘ Gl(o _,_‘ | _1.1.2 —
-——"'2 — (0+ ( ] ) ('-||2.)
1
¢ g 4
b. Bind the area of the
rectangle formed when
consecuve rmdPl'S of the -2, 4) \——4 )
sides KITE are connecked [32 ]

T (0,-10)



e L-S.A = 32(10)

. . .rf|SM

=320

¥

A,Face = b"l'-QTr

LSA = bm-I0
= o

\0

TS.A. = 320 +2(6t- "ITT) +00T
= 320 + 12¢ —Itzﬂw—(,,oTr

= | 44¢ +'+2-£’
#13  The solid is called a frustum of
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#d A swlace of rotabhun is generaked by revolvin
a shape abowt a fryed Une, caued the axis of roration.
Fov example, revolving a half circle abowt +the
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